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2) PART B Subject Paper

Question No. 1/ Question ID 908095 Marks: 2.00

fafaRad | 9 foll 95 &1 7 9ig & SH IR 82

A JUET & S H g
Which of the following cause demand of a product to increase? ~ B. SUIHIYH G’ﬂ&ﬁ Eg H\F“ﬂ g E{E‘

C. ¥R & Heu H g

g. an @ncrease 1:11 clonsu%ner's finc-I:;n;;“ D. TETH a—@\;ﬁ GCAREC B qr@\
. an increase in the prices of substitutes : =
. : ; E. Jug axj3i &l g8 1 gig
C. an increase in the price of complements 9
D. an increase in the number of substitutes Fo=) : Efﬁﬁm
E. an increased taste for the commodity. A1 14 T faeped 3 & Herdl SUY9d STR 1 5 ’

Choose the correct answer from the options given below:

1. BAAA. B IR C

.A.Band C only

!
2.C.D and E only 2. %HAAC, D 3IRE
3.B.D and E only 3.%ddB.D IRE
4. A B and E only 4. PATA. B IHRE
O 1
1
O 2
2
O3
3
O 4 (Chosen Option)
4 (Chosen Option)
Question No. 2 / Question ID 908072 Marks: 2.00

Which one of the following values is not a part of OCTAPACE framework?

. Openness
. Extension
. Proactivity
. Autonomy

FafaRad & 9 &1F 9 Jod SIaeTid (OCTAPACE) @id & YT -Tei 67

B R A

(Chosen Option)
(Chosen Option)

Question No. 3 / Question ID 908097 Marks: 2.00
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Under which of the following market structures, products are differentiated and
close substitutes?

A. Perfect competition

B. Monopolistic eompetition
C. Oligopoly

D. Duopoly

E. Monopoly

Choose the correct answer from the options given below:

.A.Band C only
.B. C and D only
.C.D and E only
. A, Cand D only
FofaiEd o 9 &7 IR SR 1 SaE [qUied sk saide wHTE

gl 87

A. ol gfoegef

B. UGIUeRI ufaeguf
C. AAYDHR

D. OB R

E. THIUPHR

=

= e

=i o 7Y faeredi A ¥ el 3R &1 70 Sifon -

1.HAAA, B IR C
2. PadB. C AR D
3.%ad C.D ARE
4. HIAA. C AR D

(Chosen Option)
(Chosen Option)

o O O O
BB WWNN oo
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Question No. 4 / Question ID 908130

Marks: 2.00
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The problem-definition process involves following steps. Arrange them in a logical
sequernce.

A. Determine the unit of analysis

B. Determine the relevant variables

C. Write managerial decision statement and research objectives
D. Write research question and/or research hypothesis

E. Identify key problems

Choose the correct answer from the options given below:

m w0
0 MO
&

o
wOowo

oW
DoHA

T e gl E e mo iR 2 s 219 At
3 H H afud Hiferu|

A fowown &t 51 FRutla &

B. UEe =R &1 Fuifd T

c. yaya g iy faawor @y=) ud Siy-3s3g 1 forg|
D. I8 UHT 3R/ WY W e & fagT

E. T30 YHR1E &1 ggdH Bl

= feu U fde el © 9 981 3T &1 904 i .

b =
LR=RolS
QMY

> P
@O W

il
OoHEHO

O O O O
BB WWNN oo

(Chosen Option)
(Chosen Option)

Question No. 5/ Question ID 908061 Marks: 2.00

Empirical studies indicate that long run average cost (LAC) curve is

. L-shaped
. U-shaped
. S-ghaped
l-shaped

AT reng 4 3f1d glan © o dfafae siraa amma (e ) a6 &1
HPREAT® :

b =

:h.L.u

1.L- 3P
2.U-3HpR
3.8 -HPR
4. V- HPR
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 6 / Question ID 908109 Marks: 2.00
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Which of the following are the reasons for manufacturers and retailers to brand
their offerings?

A. Helps to gauge the level of product quality
B. Enables premium pricing

C. Contributes to corporate identity programmes
D. Informs about the source of a product

E. Develops customer loyalty.

Choose the most appropriate answer from the options given below:

.A.B. Cand E only
.B. C and E only
LA, B.CandD only
4. A. D and E only
Frfarsi ud Qa1 il & (o SOl URIeh s &1 58 S & BRI
EEINICRR A i

A. TS B 101G 3 TR &I H1YE H 8T gl ©
B. iftgy oind Rl & gud =mar e

C. BIURe 989 HTUHH § 8UF 8idl o

D. 5 e & 9l & 9<y § e UesH Il &
E. Uigeh &I 91 &1 fassfag wwan

i f3U T fad el § ¥ Yad SUgdd IR D1 99 Il ;

La b =

1.Pad A.B.C.E
2. %4ddB.C.E
3. 9dd A, B.C.D
4. $GAAD.E

1 (Chosen Option)
1 (Chosen Option)

O O O O

AR WWDNN
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Question No. 7 / Question ID 908070

A population has a mean of 200 and a standard deviation of 50. Suppose a simple
random sample of size 100 iz selected then the probability that the sample mean
will be = 5 of the population mean 1s

.0.7523
. 0.6928

. 0.9544

. 0.6826

fepit ST3eaT o1 /14 200 U4 A 490 50 §, AHT @iford [d100 & HER
ITe U IR Urefas® Ufaes ol 994 f&a1 oiar § 99 39 ufaey & A

P TS B & = 5BIH &1 a1 GHE 82

b =

=

1.0.7523
2.0.6928
3.0.9544
4. 0.6826

O 1
1

Marks: 2.00
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O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 8 / Question ID 908086 Marks: 2.00

On attaining the age of majority. a minor's agreement

. Can be ratified by him

. Cannot be ratified by him
. becomes void

. becomes valid

et Fraifere o aiferT 819 ITd! S9 UR &3 o4 & UYTd. 39 A1€ifen gRT
fooan T IR

B N R

(Chosen Option)
(Chosen Option)

Question No. 9 / Question ID 908078 Marks: 2.00

frafaRad 31l 1 S H-91 U I8 TR & 958 <% 82

Which one group of the following countries are members of ASEAN?

1. Laos. Cambodia. Brunei 1. S, ﬁ%ﬂT gﬁ_g
2. Malaysia. Thailand, Taiwan 2. IlﬁﬁTEIT U@E E_[ EE!F
3. Myanmar. Singapore. Hong Kong 3. HMHR, ﬁFTI'? BRIEH]
4. Fiji, Laos, Cambodia 4. ﬁb_uﬁ, Eﬂm, Salfsar
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 10 / Question ID 908055 Marks: 2.00
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Who was of the opinion that labour was "the father of wealth” and it must be
included in any estimate of national wealth?

1. William Far

2. William Petty
3. William C. Pyle
4. Flamholtz

ag Td fbe- 131 & 4iire Huli & S+ ¥ SR o8 g guky & fodt ot
MEHa- § I HA1 9iigu?

1. faferma wR
2. faferg g
3. fofergm 4. giga
4. 49 gl

O 1

1
(Chosen Option)
(Chosen Option)

O O O

2
2
3
3
4
4
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Question No. 11 / Question ID 908113

The Competition (Amendment) Act, 2023 revamped the competition Act in which
of the following perspectives :

A. The CCI needs to be intimated if the value of merger and acquisition deal
exceeds Rs. 2000 crores

B. The overall timeline for assessment of combination has been reduced to 150
days from 210 days

C. "Exclusive selling agreements" has been replaced with "exclusive dealing
agreement”

D. Entities who are not engaged in identical or similar trade shall also be part of
an Anti-competitive Agreement under Section 3(3) of the Act

E. Anti-competitive conduet like "tie-up arrangements" "re-sale price
maintenance” and "exclusive distribution agreement" have been redefined.

Choose the correct answer from the options given below:

.A,Band C only

. C and E only
.A.B.Cand D only
.A.B.C.DandE

fafafad foT geuf 1 ufawt (@) sifefam 2023 7 ufamuf sfefras o
T4 g9y fdar ur

A foag sar Aftreor 1 AR afe 2000 HS TUC Y A @ 8 ar It A
3Tg &1 JId foal o S SHTaxgadl il

B. T45H & ged & o1 g 999 999 G &7 210 &1 9 9@ 150
fea o= fem g

C. '3 fomg TR & 30 Uigamen $R I wfoeifid fearmar g

D. 4 yfamT= ol fés 99=9 31ua 90 @9R | Sov el 6. 9 Ui sfafgm
DI URT 3 (3) B Sicid wfaeguf faRieh SR & v o o |

E. Cls-30 BRI GATGH ! Heu SFR&UN 3R '3 faarur &R o wfaeayf
faRieht ameRor 1 grdRefe fear mn ®

=i o e fawredl & ¥ el 3R &1 794 $ifon -

R R S

1. BAAA, B3R C

2. HaAC ARE

3. PaA A, B, C 3RD
4. BIAA.B,C.D IRE

Marks: 2.00




WwWw.prepp.in 'repp

Your Personal Exams Guide

(Chosen Option)
(Chosen Option)

o O O O
AR WWNN on

Question No. 12 / Question ID 908051 Marks: 2.00

In totalitarianism. called authoritarianism. individual freedom is subordinated to
the power of the authority of a group or state. Which of the following is not a type
of totalitarianism?

. Theoeratic

. Right Wing

. Tribal

. Conservative

JaifteRars Y IxmER (nfierag) Hi &gl ofdr 8. 398 afdard Wdadl
wﬁa{wwﬁm%maﬂﬁ%ﬁ 3 gl 8 Fifpa a3
67

YHRAIE B UH TSR 7ol 82

b =

L

1. yHenaa
2. gfgordt
3. SO
4. =ieard!

1

O
@)
O

(Chosen Option)
@)

1
2
2
3 (Chosen Option)
3
4
4

Question No. 13 / Question ID 908083 Marks: 2.00

'A' sells a mobile phone to 'B'. a minor who pays for it by his cheque. 'A' endorses
the cheque to 'C' who takes it in good faith and for value. The cheque i3
dishonoured on presentation. Can 'C' enforce payment of the cheque ?

. C' can enforce the payment of cheque only against 'A'

. C' can enforce the payment of cheque cither against 'A' or 'B’
. C' can enforce payment of cheque both against 'A" and "B’

. C' can enforce the payment of cheque only against 'B’

'A' TS HET5d F1ae® ‘B ©1 994l § i gHd] YA 9 gRISal gl A’
A% &1 'C’ & o0 ggiford $R &l © ol 54 [AYT d g & &4 & ofdl § 3R 9
1 YT & o T fpy ofF W) R (3T ST 8| &1 'CY 9 &
A & T ST (AR B30 PR Yhdl g

R R

'C' TSP YA & Y Had 'A' B G188 HR ol o
.'C' = & YITAH & {70 'A' 3@l B! 1§19 B Hapell o
'C' % & ITAH 8 'A' SR B M1 B S19 PR Fhdl 6|
¢! F YA & iU ad 'B' 1 91 PR Gl o)
O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
o3
3

[ B

IS
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Question No. 14 / Question ID 908116

Match List T with List IT

Rl

151 g4l 11 § e Siferg

Marks: 2.00

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

W=t 1T Tt ST I4TH 0 Guai® T IR
LISTI LISTII A aﬂﬁfmaﬁw 1 |3=RIPE 2o U 2aad
(A.T. Kearnev Globalization Index) (Variables) B ,_5\ = ) £l EC{:‘C qudﬂl
A [Economic Integration I |International Tourism and Travel C. MY UPIy LI [[9G=T HHE 9=
B |Personal Integration II. |Internst users D. Rra-iid® Qﬁé il V. a@:&nqmﬁ W
C. |Technological Integration I1I. |Foreign Direct Investment
D. |Political Integration IV [Ratification and multilateral treaties '5'133 figd a5 9 ﬂ%jl 3T B 999 il d.
Choose the correct answer from the options given below:
1. A-IV, B-III. C-II. D-1 1. A-IV. B-III. C-II. D-1
2. A-IIL. B-L. C-1L., D-IV 2. A-IL B-L. C-1I. D-IV
3. A-IIL, B-1L. C-1, D-IV 3. A-IIL B-1I. C-1. D-IV
4. A-IV. B-1, C-11. D-IIT 4. A-IV. B-1. C-I1. D-III
O 1
1
O 2
2

Question No. 15/ Question ID 908096

place even among few sellers if and

A, Product is differentiated

B. Demand is infinitely elastic

C. Entry into the market is absolutely free
D. There are strong entry-exit barriers

E. Exit from the market is entirely costless.

1. A and D only
2.B and E only
3. Aand C only
4. C and E only

Choose the correct answer from the options given below:

A. 3 fandiga giare

B. BT H 3ifeep o il &

C. IR § v qul M. gl g

D. Holgd Yd-FHaT 3HaRiY gldT &

E. SR & (o quig: 9 Ied giar e

1. HIAARD
2. PddB IR E
3. PAdA R C
4. %A C IRE

- fog e fawedl | el ST &1 =0 $ifon -

According to the theory of contestable markets. vigorous competition can take

gl areiRl & fgia %agw.uﬁagq%@ﬁmaﬁﬁﬂwm

Marks: 2.00
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(Chosen Option)
(Chosen Option)

1
1
2
2
3
3
4
4
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g

1

3

[

o

O O O O

Question No. 16 / Question ID 908068

Experimental treatment in research design signifies which of the following ?

. Selection of dependent variable

. Manipulating independent variable
. Selection of independent variable

. Manipulating dependent variable

aﬁagﬁwﬁu@ﬁﬁm(ﬁaﬂjﬁaﬁr@ﬂﬁ@%w ERERS RN
PIAT8?

. ST =R Bl =g

2. Wdd IR B GHIGd ST

XA IR B 99T

4. 38T 977 F1 gHIfdd HA1

(Chosen Option)

1
1
2
2
3
3
4
4 (Chosen Option)

Marks: 2.00

The

B
C
D
E

W

o

R

Question No. 17 / Question ID 908126

steps to be followed by a firm while strategizing to go international are as

follows:

A. Deciding when to enter

. Deciding which markets to enter

. Deciding whether to go global

. Choosing a mode of entry

. Deciding how to enter the chosen market.

Choose the correct answer from the options given below:

> 00
SR
aPmo
O
oow e

aﬁéaﬁq:ﬁaaaaamﬁﬁﬂﬁﬂ%quwﬁﬁaﬂﬁ@%ﬁﬁ%aﬁw
T Bl § ol 39D GRT R0 [T o aTd x0T § -

A. TF 30! THATT (VA ST 5. SHPT [H01G B

B. {1 SOIRI H Wa% &A1 8. SUPT HUig Sl

C. A% FaR IR WIT SH1 1 Fo! SH1. SHPT 0fg H3A1|
D. ¥a% & Ridh (F1YT) BT 11d B |

E. T 88 aT9R H &4 Yo% Ul 3. 39T Fuig S

E.D.C.B.A
C.A.E.D.B
C.B.A.E.D
A.B.C.E.D

Marks: 2.00
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(Chosen Option)
(Chosen Option)

o O O O
AR WWNN oan
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Question No. 18 / Question ID 908108

In the context of banking sector. spread is defined as a function of the following :

A. Forex

B. Net Interest income
C. Rate Sensitive Assets
D. Asset Ratio

E. Leverage Ratio

Choose the correct answer from the options given below:

. C and E only
. Aand C only
.B and D only
4. B and E only
a1 &7 & T 17 WIS 1 Fafafad 1 fe srdeansi & Eu d afvifid
ERRILI

A BRFY

B. Had =am9 3

C. &R Yad] uRgaft
D. URuf 3
E. 3dia 31

LR

il f4U T faep el O ¥ Hel SR 1 99 DI -

1. ®ad C ARE
2. PaAA AR C
3. %aaAB 3R D
4. PAAB ARE"

(Chosen Option)
(Chosen Option)

o O O O
BB WW NN o

Marks: 2.00

Question No. 19 / Question ID 908112

Marks: 2.00
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If the application for information is rejected under the Right to Information Act
2005. the CPIO/SPIO is obligated which of the following to furnish the person
seeking the information?

A. Power and functions of information commission

B. Reasons for such rejection

C. Obligation of public authorities

D. The particulars of the appellant authority

E. The period within which an appeal against such rejection may be preferred

Choose the correct answer from the options given below:

A.Band C only
B. C and D only
A, Cand E only
B. D and E only

g G & HUBR 2005 & AT Y1 AT DR Haell 3M1de o1 SRABR
@ [&T1 AT 8. @l CPIO / SPIO 1 I (SH@INY) Ut S alel adfed o ferg
frAfeRad aa-a1 WEd S 1 [0UTHe Haod 82

b e

A. I e &1 el ud e

B. 3[4 3IBR B DI HRU

C. Tlip-WiErTRAl & quTe odoy|

D. Uil HUsRI dael fgavur

E. 59 UPR & IR0 & fdes 3idicd oX oq aiig Sfafy

Il f&U U fash el O ¥ Hel SR &1 94 BIfu -

1. Fad A, B3R C
2. %adB. C IR D
3. BIAA. C IRE
4. $ddB.D 3RE
o1
1
0O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

pPrepp

Your Personal Exams Guide

Question No. 20 / Question ID 908089

A multinational company can use which prices to create profits in low tax regimes
and loss in high tax regimes?

Divisional prices
Inter-Divisional Prices
3. Holding company prices
4. Transfer prices

0% SIS BU- 9 R gl I @y SR G R 9uid! O g1 & 8
mﬁmaﬂmw%o

e

fGUeTEa® $1Ad
| AR fgus-TE® $iad
Hdﬂd’) HU] DI

L I SR

Marks: 2.00
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O 3 (Chosen Option)
3 (Chosen Option)

O 4
4
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Question No. 21 / Question ID 908107

Which are the RBI notified domestic aceredited credit rating agencies?

A. Brickwork ratings
B. Acvite ratings

C. CRISIL ratings

D. Standard and Poor's
E. Moody's

Choose the correct answer from the options given below:

. B and C only

. Cand D only

. A and C only

. C and E only

FAfRad & 9 S 3R & 315 gRI S EREAT g Tanid 91 &R HeRo
RS2

A fa@ad e

B. 91y & (gl (feém

C. T AR TS Y 3T Uq g
D. %58 U8 U3

B

B

il 4T T fas et § U el SR &1 99 DI -

1. $gaB 3R C
2.%ad C IRD
3. PAAA 3R C
4. FAAC ARE

1 (Chosen Option)
1 (Chosen Option)

O O O O
AR WW NN

Marks: 2.00

Question No. 22 / Question ID 908088

When the income of a minor child is clubbed with the income of mother or father,
how much the deduction will be allowed to mother or father?

.Rs. 1500

. Rs. 2000

. Actual income clubbed with the income of mother or father. whichever is less
. No deduction

e U 90D a=d &1 1T &1 Jia1 a1 g1 &1 3ma & gfdfed feararar g o
T a1 e 1 febdit erdl 1 sdfd grile

b =

=

.%1500
.Z 2000

. 11 41 fUar ®1 3 & 91y 9ifed ardfde S ol H §l
IS Berdl Aol

O 1
1

b =

S

Marks: 2.00
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O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 23 / Question ID 908133 Marks: 2.00

Asrange the following service gaps as per SERVQUAL approach in the logical
sequence.

A. The gap between service quality specifications and service delivery

B. The gap between the customer's expectations end management perception
C. The gap between perceived service and expected service

D. The gap between management perception and service quality specification
E. The gap between service delivery and external communications.

Choose the correct answer from the options given below:

S ]
=)
0P
@
o
m o0

- . .

_C.A.B.E.D
U § 3R 41 4 U Td (SERVQUAL) SUNH & SR Hafaigd al-sia=ral
1 ADETd S H saeyd HIfou :

A. a1 e efi-Tpura fa<=H ud Ja1 ggai & T siavrd

B. UT5% Bl 3U&13{l Ud YUY Ul I (Haaie-) & 0l 3w
C. 3{FHd IaT U4 3(UfEd TaT & A SRl

D. Yaua g YT 919 Ud HaT el 1oran fafFdse & ae siavra
E. Ta1 Y& il Td aTel SU90l & 7 SR

i fau U fasedi & 9 981 TR &1 90 DIl : |

=k

e

> NE P
@ @ p o

OB u
i
Oman

e L

_

2

(Chosen Option)

O
2
O 3
3 (Chosen Option)
O 4
4

Question No. 24 / Question ID 908131 Marks: 2.00
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As suggested by Collins, arrange the following leadership levels in the sequentially
higher order.

A. The leader is a competent manager

B. The leader is an executive

C. The leader is a highly capable individual
D. The leader is an effective leader

E. The leader is a contributing team member.

Choose the correct answer from the options given below:

el
nnow

> 1
> >

=E=ES
OwWwm

4. ; ;
DIfer gRI AT MU FAfAfEd A9a R 31 SIarfhd & 3= %H § Fafd
Pifery

A. AJaddl & HE=® BId1 &
B. Add®d! PHPR] SAfUeR gl e
C. Aqamat sl g9 safda giar s

D. Ig@®dl U YUl @i sidl §
E. I@dd ¢ Ha (FUTT) & ¥9 3 &1 &= ardl gidl §

I feu g fad i O 4 Tl 3TR &1 994 HIfor

1.B.C,;D.A.E

[

nno
- i
> o1
LRSS
oW =

R

(Chosen Option)
(Chosen Option)

O O O O

AR WOWWODMNDN -

Question No. 25 / Question ID 908081 Marks: 2.00

The sales step in which a salesperson learns as much as possible about a
prospective customer before making a sales call 1s known as

1. Approach

2. Prospecting

3. Pre-approach

4. Presentation
facha u¥dTa & qd HIdl A5 & S5 1 famaadl gR1 ford sifties va gl
I T2 ST o1 fasher IO & Sierid SATal 5. 98 P8l ol 6 -

1. UNTH
S o
ERESIGER
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O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 26 / Question ID 908117 Marks: 2.00
Match List I with List II
LISTI LISTII
{Accounting Concepts) (Purpose/Applicability)
” Gotng Concern I The same accounting method used by a firm from one
" |Concept " |period to another
B |Consistency II. |Relate to the relative size or importance of an item or event
g ! lAn inappropriate assumption for firm undergoing
C. |Cost concept IIL. b sy
D. Materiality I'V. |The normal basis used to account for assets
Choose the correct answer from the options given below:
1. A-IT. B-III. C-IV, D-1
2. A-I. B-1I. C-IIL. D-IV
3. A-I. B-II, C-IV. D-III
4. A-I11. B-1. C-IV. D-II
el 11 g4l 11 9 ffaH Bifeg
T 1 SHFUROT T 11 SeRT/ TaHT
. [Fd Fiferd R ;| U alt W g ey & ve wH g1 wEH
~ |SERUl _ [craren
[l T Hg 31 9e & TIUiE PR 1 Agd 4
B HEOd I |:=
Sl RTd S
c . 1 [EP TS S@T & feaer gH @1 Ta iguged
HIYRUM
D. [Hifddd IV, [oRE iR o foie vl 2 TRa 9 SR
fFrafeiad fasedl & @ 98l SR &1 =7 Fife -
1. A-IL. B-III. C-IV. D-1
2. A-L. B-II. C-IIL. D-IV
3. A-I. B-II. C-IV. D-III
4. A-IIIL, B-1. C-IV. D-II
O 1
1
O 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)
Question No. 27 / Question ID 908103 Marks: 2.00
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Which of the following are skills and capabilities related competencies?

A. Analysis

B. Intellectual curiosity

C. Organization

D. Problem solving

E. Ownership of agsignments

Choose the most appropriate answer from the options given below:

A, Cand D only
. A, Band C only
.B. C and D only
A, D and E only

Femarsli O gefid e v 9my Feea g 9 eR a8

FCEGLL

B. aifa® forRma

C. HiaA

D. THT-THIU

E. BIOHR T80 HA1

T

i QU T fad el § ¥ Jad SUgdd Itk D1 99 Bl ;

1.HIAA. C.D
2. BAAA.B.C
3. %EdB.C.D
4 BIAA.D.E
O 1
1
0 2
2
O 3 (Chosen Option)
3 (Chosen Option)
0O 4
4
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Question No. 28 / Question ID 908052

The Directorate General of Foreign Trade (DGFT) facilitates and promotes foreign
trade in India and also implements the foreign trade policy of India. Which of the
following union ministry governs the DGFT?

. Ministry of Commerce and Industry
. Ministry of Science and Technology
. Ministry of Finance

. Ministry of External Affairs

YR H a5xf MR e ex® (Sieliuwd)) faexh amaR &1 IR sl & U
Td UicgIfed ®3dl & Ud URd &1 [ae¥ aagR Hifd o i fharfaad i g
SISUEd YR IRBR & [y Ha1ag I Iniyd gar 82

[P

=

1. AITUTST U9 ILRT HAT
2. fo3m ud vreifie darem
3. fog-dareg

4. [adwdarey

O

©)
©)

WWNN =~

Marks: 2.00
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O 4 (Chosen Option)
4 (Chosen Option)

Question No. 29 / Question ID 908125 Marks: 2.00

Match List T with List IT

LISTI LIST II
(Schedules under the companies Y -
Act, 2013) (Underlying themes)

A |Schedule T I |Computation of Depreciation

B. |Schedule II I1. |Code for Independent directors

C. |Schedule III III. IMemorandum of Association

D. |schedute TV v Preparation of Balance sheet and statement of

profit and loss

Choose the correct answer from the options given below:

AL B-1. C-IV. D-III
A-III. B-1. C-IV. D-II

ba =

3. AL, B-IV, C-I, D-II
4. A-1, B-III. C-IL, DIV
el 191 =i 11 9 A Bifeg
A
et ST 2013 3 ofee e o
A 3 1. [HcOgH & URdad
B. [sEdi 11 11 [&c3 [HG=Id! gg MaHmEr
C. [3gE IIL. [HTT Held
] . [qeH-03 @i AR &A1 3R Ay Ud g1 Haet
D. [l IV ™ e B SR s
frafeiRad fasedl & 9 9el SR &1 9 Bifey :

L. A-IL. B-1. C-IV. D-III

2. A-ITL B-1. C-IV. D-II

3. A-IIL B-IV. C-1. D-II

4. A-I, B-III. C-II. D-IV

(Chosen Option)
(Chosen Option)

O O O O

AR WOWDNN =2~

Question No. 30 / Question ID 908082 Marks: 2.00
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An attacking strategy which involves introducing new products or technologies
that rewrite the rules of competition in the market and avoid direct conflict with a
rival is known as

. Flanking

. Bypass

. Encirclement
. Guerrilla

a8 SEhTHS BRI, Gl 74 ST A1 HIIR1eha] BT HRY Bl & o
TR o ufaeget & g9 g4 7¢ 9Td 8 aun wieegdf & a1y yae Tda $1
WW%G@IWW%

[

e L2

(Chosen Option)
(Chosen Option)
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Question No. 31 / Question ID 908063

Which of the following describe an intervention currency :

1. The currency in which exporter choose to invoice their exports

2. The currency in which cross-border transactions are paid for and elosed
3. The currency in terms of which a domestic currency is quoted

4. The vehicle currency

i adt ger fre 7 @ fead grraffa giar g -

1. 98 g1 forgae1 997 Fafasd! oid- gR1 fbt 9 ardl fafd eth diee
IR B 8 PRAT 6|

2. 98 a1 fored Tr-uR (faexit) & JeragRi &1 YiTdH faar S g

3. 98 Hal o Gayf & TRy g1 S Rd o1 oIt 8]

4. YaER aieP Hal

(Chosen Option)
(Chosen Option)

o O O O
AR WWNN oo

Marks: 2.00

Question No. 32 / Question ID 908057

Marks: 2.00
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From the following information you are required to compute Return on Total
Capital employed.

Net Profit Rs. 100.000

Provision for tax Rs. 100,000
Income from Investment Rs. 10,000
Fixed Assets Rs. 450.000

Current assets Rs. 1.50.000

Interest on debenture Rs. 10,000

Reserves Rs. 100,000

.30%

. 50%

. 60%

. 40%

fFrafead ger & SR W Faiford oo 4ot iR wiftd! $f 701 i
TG 1Y 7 100,000
DY g IUTH % 100.000
Fow d s 710,000
2t afrdafiat 4.50.000
7] R aar 7 1.50.000
fedoy IR =T 7 10,000
SRIgT % 100,000

b =

S Y}

1. 30%
2.50%
3. 60%
4. 40%
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
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Question No. 33 / Question ID 908080

In which of the following segmentation criteria, the predictability of consumer
choice behaviour is the highest?

. Psychological

. Demographic

. Behavioural

. Geodemographic

frafafaa o O fog SSteru ards! § Uy & 994 Jed o0deR &1
gafAadr 9affye g g2

a2 =

(Chosen Option)
(Chosen Option)

o O
[NY NN

Marks: 2.00
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Question No. 34 / Question ID 908077 Marks: 2.00

Which one of the following is a fully owned subsidiary of the R.B.I?

. Indian Institute of Bank Management (IIBM)

. National Institute of Bank Management (NIBM)

. Indian Institute of Banking and Finance (IIBF)

. Indian Financial Technology and Allied Services (IFTAS)

Fofaad 0 eH SREeE. & Ul Wi & siHfl9 U@ syl §H 82

B

1. YRdTG S va T (31 311 & g

2. YT % UaRA SR (U 1S o UH)

3. YR &fder 3R fa<hia T (g ams &1 u\)

4. YR fa<ia Wit 3R S8 Jan (3175 U% &1 T TE)

(Chosen Option)
(Chosen Option)

o O O O
BB WWRNN oo

Question No. 35/ Question ID 908134 Marks: 2.00

Arrange the following steps in a logical sequence in recourse to dishonouring a
negotiable instrument:

A. Noting

B. Compensation

C. Protesting

D. Notice of dishonour
E. Penalties

Choose the correct answer from the options given below:

1.D.A,.C.B.E
2.C.D.A.B.E
3.C.D.E.B.A
4.A.C.D.B.E

TRIHE UUA Pl PR 5 a¥ail AUPR T o are FafiiRad =von @D
& difdbes 3IpH T ouafed Hifor :

A, P ifem)

B. G3{IqGll (UdPR)

C. TPR-THIUH

D. 3dI®R o34 gag! Aifcq

E. TGt (3dds)
= fou U [de e © 9 981 3T &1 904 i .

B
00
Qoo
oM O
o w w
et
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O 3
3

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 36 / Question ID 908129 Marks: 2.00

Sequence the following steps in the operational functioning of the Asset
reconstruction companies (as per SARFAESI Act 2002)

A. Charge a 2 percent management fee
B. Issue security receipts to bank

C. Make payment to bank

D. Buys loans of bank at a discount

E. Carry out the recovery

Choose the correct answer from the options given below:

b
SESESNS
> W w0

p WO e
td = g

o
[pRr ol |

m AR HUHGT (RS YT, 2012 F FHER) & BB
&[4 gl &l HHMYER afeyd fbf -

A. 2 UFIRId Ya=MA Yo IR (@) Bl g |
B. 3% I Wiayfd Uit Frifia S 5

C. 3 DI YA Sl 6|

D. §& %I B¢ R BU WG Tl 6 |

E. e (ayeh) fraraa axdi €1

i feu U fasedi & T UEl STR &1 99 Bifoy :

P30
HoEp
oR NN -+

e

B
oUpou

(Chosen Option)
(Chosen Option)

O O O O

AR WOWODNN -

Question No. 37 / Question ID 908093 Marks: 2.00
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Section 61 to 64 of the company act 2013 states 'Alteration proper’ which includes:

A, Cancellation of the unissued shares

B. Cancellation of issued shares

C. Increase in share capital by issue of new share

D. Decrease of share capital by redemption of shares

E. Conversion of fully paid shares into stock and vice versa.

Choose the most appropriate answer from the options given below:

.B.C and D only
A, Cand E only
.C.D and E only
A, B and C only

ST HUFEE 2013 B URT 61 T 64 F Sfcafed eifec e fim & e €

A, T 9™ & | T

B. frifira 9a’i &1 ¥ e

c. T IR &l g sH IIR A d ofe

D. TR & foH== I R Yol 4 B

E. JUIq: U5 WIRI @1 €i® 8 URad Ud 59 [amia

1 feu Tt fad el O ¥ Yad SUgad IR &1 99 Hiferd ;

T

1.$adB.C.D
2. PAdA.C.E
3. 9dd C.D.E
4. PdA A, B.C

(Chosen Option)
(Chosen Option)

O O O O
AR WWRNN oo

Question No. 38 / Question ID 908076 Marks: 2.00

YRd ¥ I3 S &1 faHarm+ &9 $dl 82

Mutual Funds in India are regulated by:

. Unit Trust of India L. *Iﬁ?_@f 6{[535 3ispl

. Department for Promotion of Industries and Internal trade 2. I 3R ST SR Ureare faum
. The Securities and Exchange Board of India 3. YRdE ﬂﬁ"‘;[ﬁ R e aEs

. Department of financial Services 4. To<g Tar fgum

1 (Chosen Option)
1 (Chosen Option)

| SR

e L

O O O O
BB WW NN

Question No. 39 / Question ID 908138 Marks: 2.00
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Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R

Assertion A : Usually manufacturing companies use sale and lease back
arrangement to unlock investment in fixed assets.

Reason R : In a sale of lease back arrangement. the companies sell the assetto a
leasing company. and lease it back to enjoy the uninterrupted use of asset in their
business.

In the light of the above statements. choose the most appropriate answer from the
options given below:

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A
. A is true but R is not false

. A 1s false but R is true

:ﬂ%iﬁmﬁqwg.ﬁWW[ASSEMOHA)%Wﬁ%@H%?ﬁW
@%W(Rﬁason R)b U Y

o =

e L

YA FHq: faf-afar sufar fasa ud 9e1 % cgawT &1 Wi iRt
uivEgil & fbu o ard i &1 gad @3- §g Bl 6

BRI R: [qehd Ud UgT oaedTadl 1, shul-ai el ufesuf @1 fasa ugr &
aTeht O BT TR Sl 8, 3R S0 ey § Ry 37 Fafy =0 3w
TP A IoH TG S TRT R A A &

SURIGd HYA & 3fclls H, 19 AU Ty f[deedl § 9 968 Iugdd 3R &1 94

.AJRR I T8I € SRR A DI TE oI §

A SRR GIH T € iR R. A &) TSI AT 8l §
ATIEAfFAR 3T ®
AT UfFIRIT R

1 (Chosen Option)
1 (Chosen Option)

ey

b

IS

o O O O
AR WW NN

Question No. 40 / Question ID 908115 Marks: 2.00

P 3 & fou H1H-91 981 32

Which of the following are correct for Agricultural Income ? A, T GRT SR U O g8 SR

A Income from self grown grass. trees. bamboo B. @@W PR T 3
B. Rent and Rates derived from land C. §oR & E’W IdIE &1 9 31T
C. Income from making the produce fit for marketing D. Tﬁq IdIE & USRI _E:'ﬂ PG| Hﬁ:[ T 3/

D. Income from land used for storing agriculture produce  E. BT g/89 I 3™
E. Income from farmhouse

=i fgu T f[9eedl § § 984 SUgad 3ux &l 99 BT :

Choose the correct answer from the options given below:

1. $4dB.C.E

1. B. C and E only

2.B,D and E only 2. $ddB.D.E
3.A Cand D only 3.9Pdu A, C.D
4. C.D and E only 4. $4dC.D.E
O 1

1
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O 2
2

O 3 (Chosen Option)
3 (Chosen Option)
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A Mean
B.Q,

C. Median
D. Qg

E. Mode

Choose the correct answer from the options given below:

C and E only
.A.CandE only

C.D and B only

D. B and A only

1.
3
4.
g
S SiveRideRarl

A T
B.Q,

C. Hiie1
D. Q;

E. §g0®
= fou U fowedl © O U6l 3R &1 904 $ifoie -

1.$adAC.E

2. BAAA.C.E
3. %A C.D. B
4. 9ddD,B. A

O 4
4
Question No. 41 / Question ID 908118 Marks: 2.00
Matech List I with List II
el 191 1 11 9 I Siforg
LISTI LISTII _
) = 1 eXthsTd ga@i® A It 11 IR &1 THR
(Herfindahe Index Value _ (Harl_{et 'I_'}'pe} A [ I G—(Eﬂ—q-ma; 3= oA ﬂ%ﬂ' B DG AL
A |Zero 1. |Oligopoly with high risk of cartels] TR
B. [o- 1.000 II. [Oligopoly E.pa.000 I
C_[1,000 - 1,800 TIT. [Monopolistic competition €. [h000.= 800 IT1. [TTTe] Hiceet
D_[1.800 - 10.000 TV. |[Extremely competitive market | | D- |L.800 - 10,000 IV |3t Hiqea ST
Choose the correct answer from the options given below: Hafafed faeedl O 4 H81 ITR &1 99 ST -
1. A-I. B-IT, C-IIL. D-IV 1. A-I. B-II. C-IT1. D-IV
2. A-IV, B-TIT, C-IT, D-I 2. A-TV. B-II1. C-I1. D-I
3. A-IL B-I. C-III, D-IV 3. A-IL B-L. C-II1, D-IV
4. A-1. B-111, C-I1. D-IV 4. A-L. B-ITI, C-II. D-IV
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
Question No. 42 / Question ID 908100 Marks: 2.00

A box-plot is a graphical summary measures of data that displays

SIT-TE U@ UIhadd (MEE) IR & Sy a@s! & J1d1 9l o
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(Chosen Option)
(Chosen Option)

o O O O
AR WWNN on
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Question No. 43 / Question ID 908111

An agent is personally liable to third parties in which of the following situations?

AL If an agent acts for an undisclosed Principal

B. Trade usage and customs makes agent personally liable
C. If an agent signs a contract in Principal's name

D. If an agent acts for the named Principal

E. If an agent works for a foreign Principal.

Choose the correct answer from the options given below:

.A.Band C only

.A.Band E only

.C.Dand E only

.B. C and D only

Frafarad fe uRkfufaal / qensli J o918 eie (@) R e & ufa
TG =0 ¥ GTRam! Bl 82

A. TfE 315 7T (3vdbe) Faie & fou o1 e &

B. AIR- B09eR U4 Y&fe/d YUY Uoie &I afaard &9 3 StRaM! a9l g
c. afe DI Toie Fiad & 78 3 9i9e IR e5TER Sidr e

D. 4f¢ ®ig Toie A1 e & fou o s e

E. Uf¢ @5 Uoie facft e & fou ol sxar g)

[

=

e 13U U fas el § ¥ HE] SR 1 99 DIt -

1. PIAA. B AR C
2. HIAA. B IARE
3. %adC. D ARE
4. PAAB, C ARD
1

O O O O

(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)

Marks: 2.00

Question No. 44 / Question ID 908140

Marks: 2.00
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Given below are two statements:

Statement I: Certificate of incorporation is conclusive evidence that all the
requirements of the Companies Act have been complied with in respect of
registration.

Statement IT : After incorporation. if the company makes a fresh contract in terms
of the pre-incorporation contract, the liability of the promoters shall come to an
end.

In the light of the above statements. choose the correct answer from the options
given below:

. Both Statement I and Statement II are true
. Both Statement I and Statement are false

. Statement [ is true but Statement I 1s false
. Statement I is false but Statement II 1s true

FU 1. T ST v ue (Ao 1en ¢ foras dofiexur & 9ay H SHuHl
Hfefam & siaria srfar ufharsi &1 urer gon g |

S 11: I & 914 a1 Su-1 gd-Fie dide) & gy 3 Ut s diaar
Bl & ol Uaad] o Sadr SHI gf S |

SR HU $ el 1, A1d fGu 70 fawedi © I T8 IR &1 994 Hifeis:

o =

e L

YT I ARSI IT§

YT AR 1A A ©

YT 1T 8. A U 11 T ©
. PYT 1 AR, AP PYUT I T &

O 1
1

B A N R

(Chosen Option)
(Chosen Option)

O 2
2
O 3
3
O 4
4

Question No. 45 / Question ID 908105 Marks: 2.00
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Which of the interventions can be used to manage the anxiety created by mergers
and acquisitions

. Speed-up of the integration process

. Articulate a new vision, common goals and organizational symbols
. Employee counselling and stress management training

. Disengage efforts such as termination ceremonies

. Social support from spouse, friends, supervisors and coworkers

sl Mo Wvs =

Choose the most appropriate answer from the options given below:

. A, Band C only
.B. C and D only
A, Cand E only
. A, B and E only

faera ud siftreor gR1 3o ffar & e eq FHafafaa § 9 fo= gwaami
BT YgNT fopar o I&dT 82

A UPIH01 Uiehdl B do] BT

B. 7417 2f¥. IO T&g 3R WiSd Heild| Pl LY Bl

c. FHAA! &1 el Ud wfdad HeE UiRiefor 24T

D. a1 THIYA YIRS oY S| &1 &g &A1

E. Ufd/ udl, firdl, udders! ud et gRI aHifois 9emadl &A1

1= U Y fas et § 9 9adl 9ugad STk &1 99 S -

R S R

1.FadA. B, C
2. HIAB.C.D

3. AU A.C.E
4. PAUA.B.E
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4
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Question No. 46 / Question ID 908091

Marks: 2.00
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Which of the following one considered as supply factors affecting the flow of
Foreign Direct Investment (FDI):

A Customer Access

B. Economic Priorities

C. Resource Availability

D. Avoidance of Trade Barrier
E. Logistics

Choose the most appropriate answer from the options given below:

. Aand B only
.B and D only
. C and E only
. Aand E only

Frafarad | 9 faesh uae Faw (U ST #1g) HaTe &1 quIfad & ard Smafd
BRI (T S &Y J T oIdr 82

A Ul Ygd (FTHdT)

B. 3fdfe a3tadm

C. I IR

D. TAR-F1H13] &1 IReR
E. dilSie®

=

= e

1. $ad A 3R B
2. PadB IR D
3.%dd C ARE
4. BT A ARE

O 1

1
(Chosen Option)
(Chosen Option)

o O O

2
2
3
3
4
4

Question No. 47 / Question ID 908135 Marks: 2.00
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Arrange the following advance payment of tax in ascending order (Section 207 to
section 211) of the Income Tax Act.1961.

A, Instalment of advance tax and due date

B. Liability for payment of Advance Tax

C. Payment of advance tax by the assessee on own record
D. Condition of liability to pay advance tax

E. Computation of advance tax

Choose the correct answer from the options given below:

w1
0w

COU0wWw
cHCNCRe!
PPOU
(oo W= o

L

WH@W%W&IWG@HWWH%WW(WW
I URT 211) H ShHES BITGIU -

A M TR @I fvea SR ga fafy

B. 30 ®R & YIdH &q &adl

c. Fuiidl & w4 & axaes / ReTs gR1 SUH & JfaH
D. 31 &R & WIdH o &ddl &1 [d

E. 318 & &1 HIUHE]

= fou U [deedi § 9 981 3R &1 9094 I -

(Chosen Option)
(Chosen Option)

AR WWDNN

Question No. 48 / Question ID 908085 Marks: 2.00

A letter of acceptance sufficiently stamped and duly addressed is put into course of
transmission. There is a

1. Contract voidable at the option of acceptor
2. Contract voidable at the option of offeror

. No contract at all

4. Valid contract

i =0 ¥ ggifaed Ud faftad 9eifid faeg 70 us wigd 97 &1 Uy g Hel
EISINE]

L¥¥]

1. Widd! & a0 IR Hidg] YAH g
2. FRATGhal & a0 IR fde1 YaehRuig 8

3. P SE A R

4. TP qy TfaeT )

O O O O

1
1
2
2
3
3
4
4

(Chosen Option)
(Chosen Option)
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Question No. 49 / Question ID 908084

The doetrine of 'Caveat emptor’ applies in which of the following situations?

. When goods are sold by description

. When goods are sold by sample

. When goods are sold under implied conditions and warranties

. When the buyer does not intimate the purpose to the seller and depends upon
his own skill and judgement.

frrafered fo-r aRfufaat @ gesil & gl Qraer o1 Rigid ar] gl 62

| S ]

a2

. o1 A% fGaR01 37 & Tierd § S ot 8
19 agU Widest @ AT gR1 94 St ¥
e g Sidffed vl ud arfedf & sfda a9t ot 8|
@ sl S 4Rl & IR T fashdl &1 Jud 8] Sl 3R o9+ Wd &
B Ug Hufg R R Igar g
o 1
1

o =

oW

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 50 / Question ID 908087

X was appointed on 15 July 2022 as a lecturer in an University. He was continued

on 30 April 2023. What would be the duration of the previous year for the
assessment year 2023-24 for computation of income under the head Salary?

.1 July 2022 to 30 April 2023

. 1 April 2022 to 31 Match 2023

.1 April 2022 to 30 April 2023

.1 July 2022 to 31 March 2023

U fayfaenag o X &1 &% 1 s 2022 B Haddl & Ue U= Hyad faar
ITDT 30 YT 2023 DI RITS, [SpaT 71 T 2023-24 & B FHHiRd oq 9d a4 B
3fafy Fr shi

b =

L

.1 S[eTTg 2023 ¥ 30 37T 2023 TH
.1 3MUd 2022 T 31 HE 2023 TH

.1 30T 2022 T 30 3UT 2023 dD
-1 O[T 2022 ¥ 31 A 2023 AP

o =

=

(Chosen Option)
(Chosen Option)

O O O O

BB OWOWNN 2=

Marks: 2.00

Question No. 51 / Question ID 908120

Marks: 2.00
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Match List I with List IT

LISTI LISTII
(Non-parametric test (Counterpart of parameter test)] (Parametric test)
A [Friedman Test I |One-way ANOVA)
B. Mann-Whitney U Test I Jt-test
C. [Kriskal Wallis Test IIL |Paired t-test
D. [Wilcoxon signed Rank Test IV. two-way ANOVA

A-I. B-III. C-IV. D-II
A-IV. B-II. C-1. D-III

b e

Choose the correct answer from the options given below:

3. A-II, B-1, C-IL, D-IV
4, AL B-1V, C-III, D-I
el 191 gl 11 9 B Bifeg
RT3 1 TR-UTEITeIa URVGIOT (ATITereh UR1&T0T 3T UTaiT= [ 11 UT=ierd UR1alvl
A [WTSHH Tiam 1 |us feiim s
B. [{-fegedt U wligmr 10 |+ TRiEm
C_ [ema - arferg wiamm 1L |9 + Tfaun
D. [[Ga@® a8 T3S <& U0 1v. [ feita wiar

1. A-I. B-IIL. C-IV, D-II

2. ATV, B-1I. C-1. D-IIL

3. A-IIL B-I. C-II. D-IV

4. A-II. B-IV. C-III. D-I

(Chosen Option)
(Chosen Option)

O O O O
BB WWNN oo

frrafead fasmeal & 9 gel IR &l =g DI :
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Question No. 52 / Question ID 908123

Marks: 2.00
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Match List I with List IT

LIST I (Purpose) LIST IT (Committee)
A Study all aspects of Electronic Fund Transfer 1 [F.ashid Jilam Committee
" [(EET) - [(1992)
B. |Working group on NBFCs II. [Soduan: Commuittee (1994)
C. |Suggest alternate methods of Lending IT1. Malegam Committee (1993)
D. [Expert group on Foreign exchange markets IV. |Shere Committee (1993)

Choose the correct answer from the options given below:

A-IIL B-L C-IL D-IV
A-IL B-1, C-IIL. D-IV
A-L B-IIL C-IL D-IV
4. A-IV, B-IIL. C-I, D-II

= 191 gl 11 ¥ firar sifeg

A1 T I
T wfafa
g HE AR G U T IH weqa &1 | | [ife forerh fafa
HET DAl ~[(1994)
T4 &1 7Y Ul R B 998 11 [Giemt | (1994)
U1/ 3UR @1 ddicddidied] U Yo oA 111 [9TeR1Id 9T (1995)
_ [fac=l faf=g seiR 02 [92ug 998 V. [21 97T (1995)

frrafeiad fameal & 4 gel IR &l =g SIS :

b =

L

ol|o|w| »

A-IL B-L C-IL D-IV
A-IL B-L. C-IIL D-IV
A-L B-IIL C-IL D-IV
. A-IV. B-I1, C-I, D-II

O 1
1

o P e

(Chosen Option)
(Chosen Option)

O 2
2
03
3
O 4
4

Question No. 53 / Question ID 908119 Marks: 2.00
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Match List I with List IT

LISTI LISTII
{Technique) (Feature)
. [Pooling I. |Setting up production facilities in a number of countries

. [Financial hedge] II. [Reduction of Foreign exchange risk through leading and lagging
. [Natural hedge |IIL [Simultaneous borrowing and lending in two different currencies
[Netting IV. Holding and managing of cash by the affiliates

o] o] [o=] b=

Choose the correct answer from the options given below:

AL B-IV. C-IIL D-III
A-IV. B-III. C-1. D-II
ATV, B-IIL C-II1. D-1
4. A-1. B-II. C-IIL. D-IV

el 191 gl 11 9 B Bifeg

il 1
A [T (Ge) L |3 Gl H Scdiad iUy RMYd $eAl

U1 ¢ U4 UaN (i) & J1ed d faew fafmg wifes |
B. G ufcramr | 1L ik Sai

b e

e L2

é. uﬁrw &mé i 1. | 7 3{e7T- 31T G2 1 Hgl H GHSIt® SHRT Td 0]
D. [HfeT IV | §Rii8Gl gRTFda] Bl Yiavall Ud Uay

frrafeiad fameal & 4 gel IR &l =g SIS :

A-I. B-IV. C-II. D-III
CA-IV. B-IIIL C-LL D-II
CA-IV. BAIL C-IV. D-I
A-L B-IL C-IIL D-IV

1 (Chosen Option)
(Chosen Option)

R S

O O O O

1
2
2
3
3
4
4

Question No. 54 / Question ID 908099 Marks: 2.00
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The assumptions of Purchasing Power Parity Theory includes:

A. No costs for converting one currency to another

B. No restrictions on the movement of capital between countries

C. No restrictions on the movement of commodities between countries

D. No transaction costs for buying and selling finaneial security

E. No transportation costs for transporting a commodity from one country to
another.

Choose the most appropriate answer from the options given below:

. A, Band C only
.B.D and C only
.E.Aand C only
.D, Aand E only

o0 Qe g Rigia @1 gduronsit & wnfi fear S g :

A. Tood v go1 31 R 551 T uRady $3 R Dl Yob ol (AP Aod)
RIS GIN

B. Uoll &1 U3 T g <X H & OH R g Uida~ 781 giaT 8

C. T3 DI TP I R S 5 A TH W DI aa= gl il 5|

D,%ﬁ%ﬁﬁﬁ$muﬁﬁmwwwmﬁq—éﬂwﬂﬁm
IRI]

E. fordl U o1 9 GO o1 H a¥ & URde IR BIs arTd el Sl 6|

= feu U Ao e § ¥ 968 SUgad Sl & 99 Rl

R S R

1.$PAdA.B. C
2.%ddB.D,C
3. BAAE. A.C
4. PAAD.A.E

1 (Chosen Option)
1 (Chosen Option)

O O O O

AR OWOWDNDN

Question No. 55 / Question ID 908056 Marks: 2.00

A and B are equal partners, when partnership is dissolved. their capital are Rs.
40.000 and Rs. 50.000 respectively. After all assets are sold and liabilities paid.
there is a cash balance of Rs. 80.000. What is the amount of profit or loss on
realization?

. 10,000 (Profit)
. 20.000 (Profit)
30,000 (Profit)
. 10.000 (Loss)

AR B IR & IRIGR 8. old AIsigR] GAG gl 8 df 39! Yoil hH:

740,000 3R 250,000 &) Tt gfeufrl & faohy ud caarsi & 21a & gud
%80.000 IFH< WY FIA1 & T U901 IR fd=T 4=RIRT &1 @1y a1 g1f gidil 82

B B

. 10,000 (TTH)
. 20,000 (TTH)
. 30,000 (QTH)
. 10,000 (E11F)

O 1 (Chosen Option)
1 (Chosen Option)

B o




WwWw.prepp.in 'repp

Your Personal Exams Guide

O
AR WW NN

Question No. 56 / Question ID 908064 Marks: 2.00

From the followings which is an uncommeon feature of Private Equity and Venture
Capital.

1. Both invest in companies that are not able to or ready to gain capital from the
public
. Their investment is used for financial or operating restructuring of the
invester companies
3. They are set up an independent pools of capital contributed by institutions or
the high net worth individuals
4. Their activities are subject to few regulations

frafeRad ® 3 o= ol tfedl ik Som Ush ot s fagvar 82

[ )

1.ﬁ%d%qﬁﬁﬁﬁémaﬂﬁ%ﬁrmﬁq§ﬁwmﬁawg€ﬁﬁ

e |

2. 3 =1 &1 Fuai Haeia duial & faei sryar g SRe-1 & gara-
& fAU BIe 8|

3. 9 ot mTierad arelt Swie gR1 Yol $ie & wad Ud gRI 91!
IO BIdT 8

4. 3% o1 Siagd Fadigrr FafEa gid §

(Chosen Option)
(Chosen Option)

O O O O

AR WOWODNN -

Question No. 57 / Question ID 908132 Marks: 2.00
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Starting from the earliest, sequence the steps taken to develop the money market in
India

A. Introduction of Interest Rate Swaps (IRSs)

B. Introduction of Commercial Paper

C. Introduction of Ways and Means Advances (WMA) linked to bank rate
D. Introduction of Liquidity Adjustment Facility (LAF)

E. Implementation of Real Time Gross Settlement (RTGS)

Choose the correct answer from the options given below:

®on
o nw
nwo
P
o Pt

1
3.
4B.C.D.AE

YR B g1 S19R B [dHRd B3 & [ S61/ 0 9! &l 9ouyd o
3 & e H Haierd Pifg -

A. TS SR T (315 HR TH) BT HRH

B. IO ® U BT SRY

C. 8% §R Y U5 d US Ui USaiY (So U U) I 3R
D. faféfect ueoiedie BRfed (Ta T u) &1 SR

E. Xgd ersq 9 Yeai= (3R 3 St T 31 fosaragq

el feu 71U fasedl & 4 gl SR &1 99 Bifolu : |

e b
wWwon
OUOUU
Unwu
:;p:pm:p
(it 3t

( hosen Option)
(Chosen Option)

O O O O

1
1
2
2
3
3
4
4

Question No. 58 / Question ID 908121 Marks: 2.00
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Match List I with List IT

LISTI LISTII
(Motive of human behaviour in organizations), {Characteristic)
A |Achievement I. |Concern for others
B |Control II. [Concem for self-development]
C. |[Extension III. [Concern for excellence
D. [Dependency IV, [Concern for orderliness

Choose the correct answer from the options given below:

AL B-IV. C-I1. D-I
A-IV. B-III. C-II. D-I
CA-IL B-IV. C-1. D-III
4. A-IIL. B-IV. C-1. D-II

el 191 gl 11 9 B Bifeg

RT3 1 S5 | A4 98K $1 36X T 11 feRraaT

A [Suciie 1 [gER & [T TWRIBR
EBEu 11. |9 9™ & 00 SBR
TR 1L [P Pl o (o0 TRIBR
R V. [geTa® & [0 R

fafeRad fdeedl & 9 98] 3R &1 994 B -

b e

e L2

B.
i
D.

AL B-IV, C-ILL D-I
CA-IV. B-II1, C-ILL D-I
A-IL B-IV. C-1. D-III
CA-IL B-IV. C-1. D-II

o =

e L2

(Chosen Option)
(Chosen Option)

O O O O
AR WWRNN o

Question No. 59 / Question ID 908090 Marks: 2.00

"It is an art of dodging tax without actually breaking the law". This is related with:

1. Tax Management
2. Tax Avoidance

3. Tax Planning

4, Tax Evasion

" g Gd & S B! dls 871 IR 99 31 TP Sl o 98 fhud dafa g?

. PR FEYT
. P gRaoiH
. B GioAT
R HTadT

O 1
1

2 =

[ )

(Chosen Option)

O
@)

(Chosen Option)
©)

AR WWDNN

Question No. 60 / Question ID 908104 Marks: 2.00
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Which of the following are the disadvantages of straight salary sales compensation
plan?

A. Sales volume is emphasized over profits

B. Sales representative may overstock the customer

C. Low motivational impact

D. Difficult to attract or retain top sales performers

E. Sales representatives may focus on products that require least effort to sell

Choose the most appropriate answer from the options given below:

1. C.D and E only
2. A Band C only
3.B.Dand E only
4. A Cand D only

) g et farshl Wi o ol g1l Fafafed 3 9 o1 @ 82

A o B i oy @ ofte sa Gur S g

B. faw a3 el ot sfd Jag axarg@ars

C. SR YT HH Eidl &

D. I fapt datell & ST BT A1 914 WG Hid- sidl &

E. Rl ufafie 39 Sae R oF $iSd 1 9&d § o9 ey § &F
Ta HA1 99

i f3U T fad el § ¥ Yad SUgdd IR D1 99 Il ;

1.Pad C.D.E
2. PddA.B.C
3. 9ddB.D.E
4. FGAA. C.D

O 1
1

O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
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Question No. 61 / Question ID 908069

A point estimator 1s said to be consistent when

. It has smaller standard error

. Its expected value is equal to the population parameter

. It tend to become closer to the population parameter as the sample size
become larger

4. It 1s based on all available information

U g Wema-aRdl & a8 ST JHT olidl & o

W k=

1. SHH TY@ (FH Y TH) 7S F T

2. 3G HUEd Jod (HH), TGS HFGUS & SXI6R §idl o

3. SOOI TR IS1 BId1 ST &, T8 STEE] HHaUS & Hd
FFe) eR F1 SR ug e B

4, 75 I PR © U THEBRI () TR 3TN Bial 3

O 1 (Chosen Option)
1 (Chosen Option)

©)
@)

WW NN

Marks: 2.00
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Question No. 62 / Question ID 908067 Marks: 2.00

In case of two variables. the estimated regression equation is ¥ = 60+5x. The total
sum of squares 1s 15730 and sum of square due to error is 1530. The estimated
regression line based on this information is a

. Poorest fit

. Moderate fit

. Good fit

. Best fit

& R @ U & UTasiend (SMeierd) THTSan IR0l § = 60+5x 8] T &1
T AT 15730 B 3R TfE & BRI g7 &1 TN 1530 € T 8| 5 BRI &
TR YR ST TeTd FHIHEU U eIl g

(B

e

1. Y3R% e (wailte &8 39gad)
2. HiAYs e (dgd 3uger)

3. 7S fthe (g Suga)

4. 5% [the (FailYe Suge)

(Chosen Option)
(Chosen Option)

O O O O
BER WW NN o

Question No. 63 / Question ID 908106 Marks: 2.00

Which 1s the legal framework governing the Regional Rural Banks (RRBs)

A. Regional Rural Banks Act, 1976

B. Regional Rural Banks Act. 1966

C. Small Industries Development Bank of India, 1989
D. Banking Regulations Act, 1949

E. Indian Partnership Act. 1932

Choose the correct answer from the options given below:

.Aand D only
.B and D only
. A and C only
. B and E only

&1 TTHIO §T (3R SR ) & SR &g dunHe | ol sa o

PN R

A. &g o §% fifHa, 1076
B. &g grHivr d& AfUfam, 1066
C. YR &Y I faery d& e, 1080
D. df1 fafmm afafas, 1040
E. YRdIG IeieRT H9HTH, 1032

1 feu g fod el O 9§ Tl 3TR &1 994 HIfr

1. HIA A IRD
2. HEAB AR D
3. PadANRC
4. HAAB ARE
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(Chosen Option)
(Chosen Option)

O O O O

1
1
2
2
3
3
4
4
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Question No. 64 / Question ID 908060

1. Prestige pricing
2. Price lining

3. Price matching
4. Value pricing

YT $3 & ol IS &l FHHfor HEA &

1. wfaEr eiaa Fufo
2. TR Siad FHyUR (W5 s

3. I0d goad
4. I Hia-FyRor

(Chosen Option)
(Chosen Option)

o O O O
BB WW NN o

Marks: 2.00

The practice of setting a price target by the firm and then developing a product that
would allow the firm to maximize total profits at that price is called

ot Fo-1 R PiHa-aed RYig T 39 $iad W) SuA1 gRT Sfismas ary

Question No. 65 / Question ID 908110

Which of the following are the tools for consumer promotions?

A. Price off

B. Refunds

C. Coupons

D. Event sponsorship
E. Off-invoice

Choose the correct answer from the options given below:

A. B and C only
B.C.DandE

A.DandE only
B. C and D only

(Chosen Option)
(Chosen Option)

il el Sl

O O O O

1
1
2
2
3
3
4
4

Marks: 2.00

SUHIFRI-WER g |ied FHafafad o 3 e 9 82

A TS 3T

B. s

C. A

D. Sd¢ WY
E. 3{IP- 3-a109

=i fau 7T foeedl § ¥ 9ad SUgad Jux &l 99 HIfolg :

1. $ad A, B.C
2.PadB.C.D.E
3. BIAA.D.E
4. $4dB.C.D

Question No. 66 / Question ID 908094

Marks: 2.00
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From the operational point of view. which are the part of Environmental Audit

A. Environment Management System Audit
B. Social Audit

C. Compliance Audit

D. Site Property Audit

E. Energy Audit

Choose the correct answer from the options given below:

.C,D and E only
. A, Cand D only
.B. C and D only
.A.D and E only

uRETeH EPeIu A qaiaRuii RaTadian & W FEiEd a9 S 9 8

A, TOaRU-YE=A 07 e
B. GrAIfE Sidefur

C. SFIUITH &0l

D. T TUfy e

E. Toll 3{equr

- fag e fawedl H 9 Hel SR &1 =04 $ifon

b =

=

1.$4d C.D.E
2. PddA. C.D
3. HFAB. C.D
4. $GAAD.E
o1

1

(Chosen Option)
(Chosen Option)

o O O

2
2
3
3
4
4
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Question No. 67 / Question ID 908058

Which of the following is not the limitation of activity based costing?

It involves various support activities in the process of making products.

. It does not provide relevant information for decision making.

. All costs cannot be identified easily with a particular activity

. Set up cost as well as costs of running and updating the ABC system are very
high.

frafeiad & 9 &1 srieay snuid ara-RyRo $ig @ g

R R

1. g8 Iadre i o uftear 1 fafte gadHerl erdean § nfitd ware
2. 98 Flg=-ufdean & e urifies gamn =81 veH aRal &
3.Hﬁaﬁﬂﬁwwm$muﬁmﬁﬁﬁ%aﬁﬁww

g
4. T & Tt QO 1 AT ARTd & T1-T1Y GREme- Ud SEId-16R01 arTd
98 i@ gl §

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00
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Question No. 68 / Question ID 908075

Which committee had recommended a comprehensive framework of reform in the
insurance sector?

. Ghosh Committee (1993)

. Sodhani Committee (1994)
. Malhotra Comumnittee (1993)
. Kalia Committee (1994)

ferg g 3 i &3 T gUR 8¢ U o1ue =0l $1 F5gid i 4

O S

1. 919 GiHfd (1993)
2. FieHT HHfd (1994)
3. Heg AT I (1993)
4. PIfear OfAfd (1004)
O 1

1
O 2

2
O 3 (Chosen Option)

3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 69 / Question ID 908074

Which one of the following normative ethical theories has "Net benefit from the
decision" as consideration in ethical decision making?

. Ethics of duty

. Theory of justice

. Stock holder ethics
. Utilitarianism

e Fame o eikhl d O e St oo s AR s =a d
frofg 3 Frae oy g S g2

B S

1. BT i
2. g g
3. IR i
4. IYTIATAETG
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Marks: 2.00

Question No. 70 / Question ID 908071

Marks: 2.00
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In the process of perception, which one of the following is not an external factor
influencing selection of stimuli?

Experience

Familiarity

Repetition

Novelty

aEIY 1 Hichdl 5. YRl & =I4 B YHIGd B grell aTel SRS Hafeiad
ERCAE e

L R

o

1. 34

4. fomefora (3T

o O O O
BB WW NN oo

(Chosen Option)
(Chosen Option)

Question No. 71 / Question ID 908128 Marks: 2.00

Arrange the following goods and serviees in the increasing order of the underlying
income elasticity of demand.

A. Normal consumption goods
B. Necessities

C. Luxuries

D. Inferior goods

E. Services

Choose the correct answer from the options given below:

I\Jb—‘
[=NolvRv
:Ph'lr':bd

=
. B.
s B,
B

r::b}hj

L E
B
.D
e

L

ﬁ?ﬂﬁﬁdﬂaﬁaﬁqﬁ@mﬁﬁﬂmaﬁmmﬁﬂ%aﬁwﬁ
AT PIT;

A. YIHRI SUHIT Hard
B. 31G¥0e g%y

c. faama-asqu

D. iy axql

E. dard

=i ey 1Y fawedl I Wet IR 31 90 DI -

Lo o=
®Ngo

P o
O

Ll
nPp
Moo

(Chosen Option)
(Chosen Option)

O O O O

AR OWOWODNN =2~

Question No. 72 / Question ID 908101 Marks: 2.00
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In case of presence of outliers in a data set, which of the following can better
measure the central tendency ?

A Mode

B. Trimmed Mean
C. Arithmetic Mean
D. Median

E. Harmonic Mean

Choose the correct answer from the options given below:

1. A and B only

2.B and C only

3. Cand E only

4. B and D only
fodlt anmdreT W=y o afedidal @1 faegmmar @ fufa A Fafofea § 3 oF
5t vgfy &1 A1 31 ¥ IR Ul 82

A S5
B. feTs (gouaflyq) mrem
C. S{BUrd Hred

D. Tifee1
E. SIS 71T

- fog e fawedl & ¥ el SR &1 =0 $ifon -

1. PadA. B
2. %4gdB. C
3.PAUC.E
4. $GdB.D
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
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Question No. 73 / Question ID 908073

which one of the following is the hiring related turnover cost when an employee
quits an organization?

1. Advertising

2. Interviewing

3. Training

4. Recruiter fees
o Big HHAR] [l Y116 D1 SISdl © Al FYied Sa¢l gugmad arrd
faffaa S s

1. fasmo=

2. HIETHR

3. TIRr&m

4. e e

O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3

Marks: 2.00
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Question No. 76 / Question ID 908059

O 4
4
Question No. 74 / Question ID 908053 Marks: 2.00
In which of the following balance of payment accounts changes in holdings of
gold and foreign currencies by official monetary institutions are accounted for.
1. Current Account
2. Capital Account
3. Official Reserves Account
4. Foreign Exchange Account
ITAH-Hda & [ Wil U, 16 1 Hifee Sl gR1 v ud faesi gerel
B id 3G (UTRan) H [T o ardt 9ad-! &1 Sa-wiaT a1 Sl g2
1. =g Edl
2. uit @it
3. QD (ST REe) sRigfd @
4. fae=it fofma @
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
Question No. 75/ Question ID 908066 Marks: 2.00
The optimal capital budget of a firm is reflected by intersection point of
1. Security market line and capital market line
2. Weighted average cost of capital curve and marginal cost of capital curve
3. Investment opportunity curve and marginal cost of capital curve
4, Weighted average cost of capital curve and investment opportunity curve.
fop<it v & Spa Uoit auc ol o Ui 95 gR1 ST offdl 52
| TR TR T 2R O T
2. Yofl aeb 1 YIRS &g arTd $iR ol g &1 JE= anrg
3. Fa SR o SR Yol &1 Wam= ard
4. Yoll aep &1 YR ST AN SR a2 3awR
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Marks: 2.00
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Substitution effect is usually larger than the income effect in real world because

1. Consumes usually spends only a small proportion of income on any one
community

2. Consumer often consumes a small number of commodities

3. Consumer only spends small portion of income or consumption

4. Consumers income is relatively smaller in relation to the consumption.

dRdider SRTd B IIET=0d: RIS W4T 319 UHTd &1 3G 19 gidl §
mﬂ%:

1.wma§1wma:&m=ﬁmwamﬂﬁ%wwmaﬁm@%f
Bl

. FTHIERI UI: UUGawqsl 1 SIeqrl &1 SUHN Hal o

. SOHIET 39T 3T BT TS & SUHF IR il o

 SUHIE BT 31T WA 9 A U A FHE e B

PR U

O O O O

(Chosen Option)

1
1
2
2
3
3
4
4 (Chosen Option)

Question No. 77 / Question ID 908092 Marks: 2.00

For customers, which are the areas of ethical and social responsibility concerns?

A. Product safety

B. Fair Price

C. Fair Wages

D. TQM

E. Proper disclosures and information

Choose the correct answer from the options given below:

. C and D only
.C,Dand E only
. Aand E only
.A. B and E only

gred! & g § Afae 18 gmive WieR 9 T &g 8 dH-g e?

A, TS TRE]

B. 3fId U

C. 3fErd 9a (meigih

D. dwgun

E. JHfId U@l Ud a1

2 e e el § 9 T8 3R &1 907 Fifm

ko =

L

1.®Fd C 3R D
2. HGAC, D ARE
3. Padd A RE
4 PAAA. B IARE
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(Chosen Option)
(Chosen Option)

Question No. 78 / Question ID 908054 Marks: 2.00

Regional Economic Integration is an attempt to achieve economic gains from the
free flow of trade and investment between countries. One such association is
NAFTA. NAFTA comprises of the following countries:

1. USA. Canada. Mexico

2. USA. Canada. Brazil

3. USA. Mexico. Brazil

4. Canada. Mexico. Panama
&3 3N TPl <31 & He BiH alel TR Ud Ha¥ & Yo Hale 9
1 Tl 1 U = 1 U YOI o) 54l YR $1 U 98 4 (THIRITA)
T U T ¢ U A%l (T U T & ) § Fgfefaa oia 3 Su afmifea &2

1. 9 U9 T, HATST, Bfaqa!
2. UH U, B

3. 709 U, B!, sela
4. TTS1, BiFTS, 9EET

(Chosen Option)
(Chosen Option)

o O O O
BB WW NN o

Question No. 79 / Question ID 908137 Marks: 2.00
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Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : When a partner retires, all the assets and liabilities are revalued
according to current value.

Reason R : The balance sheet should show the correct values of assets and
liabilities.

In the light of the above statements. choose the most appropriate answer from the
options given below:

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A
. A 1s correct but R is not correct

. A 1s not correct but R is correct

:ﬂ%iﬁmﬁqwg.ﬁWW[ASSEMOHA)%Wﬁ%@H%EﬁW
@%W(Rﬁason R)b U Y

| SR

J S S

HUHYFA: 9d U HISiaR a1 [ gid1 ¢ dl aauH Jed & SHJaR i
uREuREl SR Saars &1 gAHediied a1 S g |

HRUIR: o197 1 gRguRml SR <aarel & 981 gl ol feamn =gyl

TURIG HYU & 3Tl |, Hid G 7Y fasedl § 3 9ad SUdd S &1 99

A SRR Tl § IR R. A D! ol A7

A SRR I TEI € 3R R, A B UL rem e &
AGHE PR TR TR B
AT TS AP R TS

ik

[

i S Y]

(Chosen Option)
(Chosen Option)
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Question No. 80 / Question ID 908065

The total return for an equity stock during a year was 12.5 per cent. The rate of
inflation during that year was 3.5 per cent. The real (inflation-adjusted) return was:

. 9.26 per cent
. 16.00 per cent
. 7.65 per cent
. 8.70 per cent

TS dN & SR Udhel ¥ &1 S0 Ufdwd 12.5 361 39 a8 GRS &1 &3
3.5 1| aRdfd® (HeRwIdl-aHEIadidwa o -

B S R

.9.26 wfa=rd
. 16.00 Wia=d
. 7.65 Wia=Ia
. 8.70 Wid<id
O 1

1
O 2
2

B R
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O 3 (Chosen Option)
3 (Chosen Option)
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Question No. 81 / Question ID 908062 Marks: 2.00

Which of the following form of market organization is the most prevalent in the
manufacturing sector?

. Perfect competition

. Monopolistic competition
. Oligopoly

. Duopoly

SINIR =1 & Fgfefad & @ o ar &y fafator 8 & gaffae vafed g2

L R R

(Chosen Option)
(Chosen Option)
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Question No. 82 / Question ID 908098 Marks: 2.00

Which of the following are the characteristics of the Euro Currency market?

A. the euro currency market does not have geographieal limits

B. the euro currency market is unregulated

C. the euro currency market does not have deposit insurance

D. there are no restriction on the maximum interest payable or chargeable.
E. The euro currency market does not attract CRR and SLR restrictions.

Choose the most appropriate answer from the options given below:

.A. B and C only
.B. E and D only
.E. Cand A only
.D.AandE only

IR el IR 31 gfeiad SiH-4i faman g

A, TR geT aoiRa! Himifers g el et &

B. T3 Tz iR fafafia gt @

C. T YT SIoIR & STH1 7 76l gl g

D. H(UHIH ST &7 HYAT YHT S IR Pl Wlaae gl gidl o
E. IR 51 IR Hl 3R 3R Ud 79 Uh SR Uides ar] gl gid 6 |

e

= fu Y fawedl © 9 9ad 9ugad STk &1 99 B -

1.PAAA.B. C
2. $ddB.E.D
3. HAAE,. C. A
4. PAdD.A.E

O 1
1
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O 3
3

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 83 / Question ID 908102 Marks: 2.00

To remove 'order bias' in a questionnaire, usually researcher use which of the
following :

A. Pivot questions

B. Multiple grid questions
C. Funnel technique

D. Filter questions

E. Leading questions

Choose the most appropriate answer from the options given below:

.B.E and A only
.D.E and B only
.E.B and C only
.C.D and A only

farell mTacl 3 '3HTS3 aT0Y &1 & B o WYDd] HHargd 3 3 SHd:
Fep T T I el &7

A BEAYY

B. §gfdvas s uy
C. ararg= ufafyr

D. ez Uy

E. dddo 0y

B R

i QU T fad el § ¥ Yad SUgdd IR D1 98- Il ;

1.PAd A E A
2. %ddD.E.B
3. BIAE. B, C
4.$GdC,. D, A
1

O O O O

(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)
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Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R -

Assertion A : By removing barriers between national markets, trading blocks create
competition due to bigger trading area.

Reason R : Increased competition can lead to the closure of local industry and
harm domestic consumption.

In the light of the above statements. choose the most appropriate answer from the
options given below:

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A
. A is correct but R is not correct

. A is not correct but R is correct

i &1 HY [T U €. TP SIMPYT (Assertion A) $ 9 I [AlRgd & a1 gO
3P HRUI (Reason R)b U Y

| SR

S

HIBYTA: AP SISIRT & HH BI TTUI3H] Bl g PR ATIR FHE (T3)
P §3 IR & & SRU Afaeae] 394 (Jiord) P g |

HROUTR: 61 g5 Wawaul. RIF IR & FAYA (88 81 o) B SR SHd
Rl & Td IR SUHNT Bl I Ugardl ¢l

SURIGd HY- & 3fals H, i U Ty faeedl § 9 968 Iugdd 3d3 &1 99
Hiforg

. A SRR I 96T € SRR, AT TEl AT &

. A SRR 31 el § 3R R. A & el oUreA el &
ATS e alpAR SRS

AT TN AR TR

1 (Chosen Option)
1 (Chosen Option)
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Match List I with List IT

LISTI LISTII
{Consequent outcome) (Taxation Perspective
A |The person is liable to penalty and prosecution I |Tax Management
B |Tax is reduced by taking advantage of loopholes of the law] II. |Tax Avoidance
C. PMain aun 1s compliance with legal formalities ITI. |Tax Evasion
D. |It 15 a guide in decision making IV. |[Tax planning

Choose the correct answer from the options given below:

A-IL. B-III. C-IV. D-I
A-IL. B-IV. C-III. D-I
AL B-IL. C-1. D-IV
AL B-L C-IV. D-II

@IW@H@[WW

AT T I
et uhome wuﬁﬁf@ﬁm
[Gafad 32 GUs 3R SfiHdieH & € gidl ¢ Y JeEH
. [@A B DESIN! B A4 8T D HH Ibdl il & | I |6 GRER

[ SR B TR Il B U ®3 g | [ [@X Huddd
[gE U & H TP A7 a2@ ¢ V. [@3 e

fafeiad faeedl § ¥ 98l SR &1 99+ Hifed :

b e

=

ofo[=]>

A-IL. B-III. C-IV. D-I
A-IL. B-IV. C-III. D-I
A-III. B-IL. C-1. D-IV
A-III. B-1. C-IV. D-II

O 1
1

P

e e

(Chosen Option)
(Chosen Option)

©)
©)

2
2
3
3
O 4
4

Question No. 86 / Question ID 908079 Marks: 2.00

Which one of the advertising planning strategies is suitable for cars and
appliances?

1. Informative strategy
2. Affective strategy
3. Habitual strategy
4. Satisfaction strategy

BRI YT TSN & oY Fferad 8 @ oH-9f fagm emaieE it
UG &2

1. JETTeT 0Tl

2. HIaTHD IO

3. ST (gaId i) O
4, divor U
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(Chosen Option)
(Chosen Option)
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2
2
3
3
4
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Question No. 87 / Question ID 908127

Asrange the steps of process costing from beginning and ending with the work in
process inventory

A. Summarize total costs to account for work-in-process inventory

B. Compute output in terms of equivalent unit

C. Compute cost per equivalent unit

D. Summarize the flow of physical units (of output)

E. Assign total cost to units completed and to units in ending work in process.

Choose the correct answer from the options given below:

o

S
O W
oW o w
> > P
WY » 0
[N esles M)

b‘ -

Yichd1 Td & HI9Hl D1 R I qYT Uishaiei= gd=<! IR goiftd & 3rgpa o
Tafeyd Hifor ;

A Td AFTd ST 9R H Uishg1 ATerg= &1 auiH Wgd deA1

B. YU 5518 & G4 T 3T B 70T Bl

C. U TU ZHTE T B U] BT

D. HIfd® SPIEl (IedTe) P YGT8 BT TR W& BRAT

E. BT qul & aTcll ga1gdl SR GHIG Hisharedi= sl & fon oa ard
fAfee &
= fou U fdeedi § § 981 3R &1 994 SIfur -

o

R BN e
O w
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>
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1
1

2

(Chosen Option)

O
O
2
O 3
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4

Marks: 2.00
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Grven below are two statements :

Statement I: The only purpose of logistics management is to coordinate activities
of moving produets from the factory to customers.

Statement II: Logistics management is only the responsibility of marketing
function.

In the light of the above statements choose the most appropriate answer from the
options given below:

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement IT are incorrect

3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement IT is correct.

i &1 HY [T U €. TP SIMIPYT (Assertion A) $ 9 I [Algd & a1 gO
3P HRUI (Reason R)b U Y

SHIUHYTA: GUR-GH TG=H DT UHHH Fe3d thae] O UeD| 1 Ud bt o
I8 3de] YaHt rdean o guftad e
HRUIR: YYR-dF Yav- fGuuH &1d &1 veos StTReida gl

TURIG YU & el o, Hid fu 7Y fasedl § 9 968 U IR &1 994

PSR PYF I A Te g
YT 3R BYF 11 311 Tad ©
 PYT IS B, AfpT Sy 1 TTad §
 HYF 17TAd §, Wb BYT 11 el ©

1 (Chosen Option)
1 (Chosen Option)
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Which are the appropriate tax planning perspectives in case of shut down or
continue decision under Income Tax Act, 19617

A. Business loss and unabsorbed depreciation ecan be carry forward and set off
against profit and gain.

B. The loss making company and profit making company may merge to avail
the tax benefit

C. Tax benefit of deduction uw's 33 AB and 115 VT may be withdrawn and liable
to tax for the year in which business is discontinued.

D. The condition of section 80 IB / 80 IC of the Act, a deduction is allowed to
such undertaking

E. If a person has more than one business, the loss making business may not be
discontinued.

Choose the most appropriate answer from the options given below:

A. Cand D only
B.D and E only
C.D and E only
A. CandE only

3G R SHfAfEH 1961 & favid &8 €F g1 SR T @1l & Ae |
IUgdd B AIor] eI Tio1 &1 d 82

A TGS BT 3R TR-GHIEIT 819 ST SFHIRd gl oidr g SR @y
TUT BT & 1Y o f&ar o 9&dT &

B. TIURG $UAT 3R AUSR! 01 1 B2 a1 Ul S 5 U a1 faem
fopaT ST Gl 8|

C. SIaYY & fdhar offar & forg oy § 3 ay & ol 33 AB IR 115VT URT &
Siqifd Seld! o1 a1y ATy foran off bl & 38 B3 4 A1 off 9l 8|

D. &fﬁﬁu%aﬁﬂmsom. 80IC X & Sidiid UY IUsHH &1 Heldl Wigd
Ea kSIGIE

E. U9 dfad & U9 U9 ¥ 34fU% ooaam € a1 g1 9f-id saadm &1 §¢ -1e!
T o @
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1.PadA. B, C
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O 1
1

(Chosen Option)
(Chosen Option)
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2
2
3
3
4
4
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Match List I with List IT

LISTI

LISTII

(Retail Store Format

(Product assortment)

A Discount I |Very narrow and deep
B |Specialty I1. |Broad and shallow

C. |Category Killer | III. |Broad and deep

D. |Supermarket IV [Narrow and very deep

Choose the correct answer from the options given below:

b =

L

1

O O O O

(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)

CA-IL B-1. C-IIL D-IV
A-l B-IL. C-III. D-IV
ATV, B-IL C-IIIL D-I
A-IL B-1. C-IV, D-III

I 1 1 gl 11 ¥ fie oo
1 I
ﬁh@m IATg T fepeur
A [fswprde I [SEd Yo U4 T8
B. [SOfRmfed] I [dIS1Ud 3yl
C. [l foer | 1L [disTud igw
D [qRAwe |1V [ ud agd e
Fafaiad [deel o 9 98t IR &1 991 Sifey .

1. A-II. B-1. C-IIL. D-IV

| ]

AL B-IL C-IIL D-IV

3. A-IV. B-II. C-III, D-I

4. A-IL. B-1. C-IV., D-III
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Interoperability guidelines for prepaid payment instruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI, payments banks, for mstance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPIL, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, however, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPI diversifies into cross- border
remittances, introduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gam traction. UPI will also have to mtegrate with the digital rupee
that is undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the infrastructure that is
being developed around contactless payments.

This mnvolves building additional UPI context around digital transactions
such as billing and credit- profiling. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to mcorporate lending at some pomt to
become a comprehensive medium of commerce. The infrastructure must
encourage fintechs to push innovation in finance. Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machinery being built. The interoperability with UPI guidelines plugs them
deeper.

Given below are two statements:

Statement I : Initial UIP adoption has surpassed the most optimistic expectations
on account of the warver of the merchant discount rate.

Statement II: The future growth of the UPI will be facilitated by providing
solution for the conduct of business and to becoming a medium of commerce.

In the light of the above statements. choose the most appropriate answer from
the options given below:

. Both Statement Tand Statement II are correct

. Both Statement I and Statement IT are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is mcorrect but Statement IT is correct.

L b
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Interoperability guidelines for prepaid payment instruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI, payments banks, for mstance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPIL, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, however, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPI diversifies into cross- border
remittances, introduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gam traction. UPI will also have to mtegrate with the digital rupee
that is undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the infrastructure that is
being developed around contactless payments.

This mnvolves building additional UPI context around digital transactions
such as billing and credit- profiling. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to mcorporate lending at some pomt to
become a comprehensive medium of commerce. The infrastructure must
encourage fintechs to push innovation in finance. Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machinery being built. The interoperability with UPI guidelines plugs them
deeper.

Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: Payment banks - which can accept deposits but are prohibited from
lending - need to be part of the UPI ecosystem.

Reason R: Loading fee on transactions through UPIL, payment banks can widen
the adoption of wallets among customers and merchants.

In the light of the above statements, choose the correct answer from the options
given below:

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A
. A is true but R is not false

. A s falee but R is true

b =
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Interoperability guidelines for prepaid payment instruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI, payments banks, for mstance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPIL, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, however, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPI diversifies into cross- border
remittances, introduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gam traction. UPI will also have to mtegrate with the digital rupee
that is undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the infrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profiling. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to mcorporate lending at some pomt to
become a comprehensive medium of commerce. The infrastructure must
encourage fintechs to push innovation in finance. Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machinery being built. The interoperability with UPI guidelines plugs them
deeper.

Contactless payments infrastructure, ag per the passage, will empower fintechs
for:

1. Interoperability with the UPI

2. Innovation in finance

3. Integration with the UPI ecosystem
4. Integration with the full service banks
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Interoperability guidelines for prepaid payment instruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI, payments banks, for mstance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPIL, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, however, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPI diversifies into cross- border
remittances, introduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gam traction. UPI will also have to mtegrate with the digital rupee
that is undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the infrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profiling. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to mcorporate lending at some pomt to
become a comprehensive medium of commerce. The infrastructure must
encourage fintechs to push innovation in finance. Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machinery being built. The interoperability with UPI guidelines plugs them
deeper.

As per the passage. why do the payment banks need to carve out a distinct
business segment for themselves?

1. To be a part of the UPI ecosystem

2. Because payment banks are in competition with full service banks
3. Because payment banks are mandated to push innovation in finance
4. In order to entitle themselves for lending
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Interoperability guidelines for prepaid payment instruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI, payments banks, for mstance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPIL, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, however, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPI diversifies into cross- border
remittances, introduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gam traction. UPI will also have to mtegrate with the digital rupee
that is undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the infrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profiling. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to mcorporate lending at some pomt to
become a comprehensive medium of commerce. The infrastructure must
encourage fintechs to push innovation in finance. Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machinery being built. The interoperability with UPI guidelines plugs them
deeper.

Which of the following use cases are expected to promotes the growth of
payment basses?

A. UPI mtegration with the digital rupee

B. Dislocation of payment banks from digital transactions

C. UPI facilitation of cross-border remittances

D. Keeping a safe distance from the contactless payment infrastructure
E. Consumer lending through Rupay Credit Cards.

Choose the most appropriate answer from the operations given below:

. A B and C only
. C.D and E only
A, Cand E only
. B, D and E only

B
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The proposed facility similar to the Applications Supported by Blocked Amount
(ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (TPO) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties, as well as the
kinds of transactions, involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA involves
escrow arrangements with counter parties in a dynamic enviromment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct seftlement, bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
investors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients' funds in the form of fixed deposit lien or mutual
fund units. This should keep mtermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an improvement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

The Application Supported by Blocked Amount (ASBA) used in the passage
refers to which market.

. Primary Market

. Secondary Market
. Money Market

. Forex Market
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The proposed facility similar to the Applications Supported by Blocked Amount
(ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (TPO) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties, as well as the
kinds of transactions, involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA involves
escrow arrangements with counter parties in a dynamic enviromment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct seftlement, bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
investors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients' funds in the form of fixed deposit lien or mutual
fund units. This should keep mtermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an improvement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

The money used for trading is allowed to be transferred directly to clearing
corporation, through

. Escrow Arrangement

. Unified Payments Interface
. E-banking

. credit cards
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The proposed facility similar to the Applications Supported by Blocked Amount
(ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (TPO) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties, as well as the
kinds of transactions, involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA involves
escrow arrangements with counter parties in a dynamic enviromment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct seftlement, bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
investors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients' funds in the form of fixed deposit lien or mutual
fund units. This should keep mtermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an improvement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

Given below are two statements: One is labelled as Assertion A and the other s
labelled as Reason R -

Assertion A : SEBI has offered relief to brokerages that stand to lose float
mcome on account of upstreaming client money to clearing corporations.

Reason R: Brokerage have been allowed to upstream clients' fund in the form of
fixed deposit lien or mutual fund units.

In the light of the above statements. choose the correct answer from the options
given below

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A
. A 18 true but R is false

. A is false but R is true
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The proposed facility similar to the Applications Supported by Blocked Amount
(ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (TPO) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties, as well as the
kinds of transactions, involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA involves
escrow arrangements with counter parties in a dynamic enviromment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct seftlement, bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
investors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients' funds in the form of fixed deposit lien or mutual
fund units. This should keep mtermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an improvement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

The SEBI has acted on its regulatory remit of protecting investors cash and

. Securities

. Dividend Income

. Grievances of payment
. Public Deposits
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The proposed facility similar to the Applications Supported by Blocked Amount
(ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (TPO) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties, as well as the
kinds of transactions, involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA involves
escrow arrangements with counter parties in a dynamic enviromment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct seftlement, bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
investors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients' funds in the form of fixed deposit lien or mutual
fund units. This should keep mtermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an improvement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

Which are reasons that make replication of ASBA for the secondary market
complicated:

A, Kindsg of transactions

B. Presence of large number of brokers
C. Applicability of SEBI guideline

D. Number of Parties

E. Differing time horizon

Choose the most appropriate answer from the options given below:

. C.D and E only
.A B and C only
. A and D only
. B and C only

R




WwWw.prepp.in

Fofafea T @ ey ok Su wefia vl & IR iR

oo TRt # s Tuds a1 wies N (U T | g SR v giaw § St
T &l P Sgid gy Fows! &1 kT FH & 0@ I 91d ¢l Hoel ¥9g # mufts ger
# 7% 59 UPR S1 Xl & 6 7 FEwe! $ an § Fes wa § SR sifild s e @ 5
A% REE Aeue i (313 9 3 % Shieal sfigs ©ieRr =3 51 Gdos sort
% o sue S o) s it uaf 2 S & STy dOmER e E
HRU 3fF Fied 21 fdias sor 7 fafdy vanyfogl & R Sdem fed Suae & &
frawre fafim Sl & ffts /e S Paem a1 21 v 6 o8 o & g = @t
TR BT TAEW Fd gU Sfa Fiha araravw § wiaust & Y USH1 sede WA §1 GEAwT
el el g1 wedl 2 g ong 781 81 9o 31 59 %H # YR varfa ud fafmg
a1 (@ Pt & R T o voe S & vare $1 9l famn & @1 giese ddew
et (g U1 o) TR &g Vel g5 = 919 3R I gEmityE Gt B swiaia w5 B
AR e B &, o comat & 91y Ty feg 91 96dl §) O% S} (e &
HEt H, Seat & 9 anf 551 vaTE 9 99 & SRUd &1 BH ST & adl RTae B U
HemIaal & IRfe® @l § S9 gy G 4k 9 SEIEE &1 A6 o yearfad s o) 96
vt & Fs & TY-TY IS Tafodt @ W1 & Fome F w0 o B g

Fdt 3 gl HY Ted Ve 31 & o wAEes et (@i suiem) $ Ry aes @ e
BT YR Wl & SR TIE S0 @ B $IR W T8 &1 HalIs w8l SRR a1
BT HE 515 & @eU § 4R Hfaea s Het FEg & R gt 1 sified fea mn
B 5HE R A S $9 O 91y el suR Fame see 990 & aee § &
TR & R el & TEE X a1 31 UG YO-9@ SiF S & Y WIE S 5N
o FeTaal WK & 9% Hay 39 Gl Reb &1 ATRY0 U6 SR &1 9UR 21599 g
VS &Y ATl & ©U H yafe gonelt & o S 9 S R dbiad fear o g 2l

fadios Sfew 99R 39 T i w8 U S ol 999 & SRU SH-31F 9 82

A, TF-39 & UER

. IR @1 e e § SuRu

. et (g £ &t o) Anielier #t sngadar
. UHER] & S

. wramay F fima

monw

= fgu T fowedl § 9 999 Suged a7 & 994 I ;

T
1
=

O 2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

pPrepp

Your Personal Exams Guide




	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




